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Roll No. E

CVIS 334 A-17

B.Com. VIth Semester Degree Examination
Commerce
(Cost Accounting - II)

Paper - 6.7
Time : 3 Hours . Maximum Marks : 80

Instructions to Candidates:

Figures to the right indicate full marks.

Section - A
PATTA N
I Answer any tem of the following questions. - (10 x 2 = 20)

1. What is normal loss?

mﬁna% éai aoudesd 7

b9

What is escalation clause?

dxdeant dabsd dodderd ?

What is P/V Ratio?

ey /Inoetd 3,0 ISR dordedd ?

(%]

4. What 1s standard cost?
ﬂEﬁFﬁe;:baﬁ ;32{,‘ ao0uded 7
5. What 1s cost-sheet?
18, T, aondesd 7
6. What are the objectives of budgeting?

Swond =3, 303ndHI ugdedndesd ?
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7. " What is contribution?
BRI, d0Tde 7

8. What do you mean by labour cost variance?

and 38 Feas Hodded 7
9. What is operating costing?
Besd 3y, douBed 7

10. - How do you treat sale of scrap in contract account?

3 aedodhd Of) Invetd=m) Berl TOMIDLID 7

11. What 1s target costing?
D Suyzen, dowded ?

12. Give any two assumptions of marginal costing?

50233 ﬁz.;daaﬁg B 0 méﬁda&z{ 3920,

Section - B
yon - w
I Answer any three of the following questions. 3 x5=15)
WBetad ST, sugdD. -
13. From the following information calculate the amount of profit to be transferred to
P&L A/C.

National profit Rs 1,35,000

Value of work_ certified . Rs. 11,00,000

Cash Received Rs.  8,80,000

Contract Price Rs. 12,50,000

FYNT vdanidod cm,j—ai"da; 3237 IMPFoVIVBRG mq};ﬁﬁzl FomEYSLBEVD.

POAT Uoy3

=, 23»edEdhn fos
2, €80T 303,
rb3riod 352e)
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1,35,000
11,00,000
8,80,000
12,50,000
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14. Explain objectives of activity based costing system.
BiHIe3F Bped3 .T.Szg15 QoD ﬁc}péozb m:c:}:}':airit'ﬁ.}r\igl DRD20.

15, The following information relates to Kavya Co. Ltd.
Fixed cost Rs. 2,00,000
P/V Ratio Rs. 25%

Calculate the sales to earn the profit of Rs.40,000/-
FINT INd3ried T, 30.000H03R F0WoPIT.
- 30 Suried de. 2,00,000
o
o3-IR00kd I, TR, 25%
de. 40,000 enyl nezen RO0WecHT SN0l aifa?s;;iﬁigt BoR &R0,

16. . Prepare process account from the following particulars.
Materials introduced into process- 1,000
Units @Rs.10 each.
Sundry materials 2,000
Direct Wages 3,000
Normal loss on input 10%
Scrap sold per unit  Rs.4
General Expenses Rs.3,000
Actual Output 840 units. |

39NT AZTPod I,8,0 edodhd ABHRAD.
Ao IpBNAW) 1,000 e’ GO de. 10 do3d
2338 z0DL de. 2,000

sed 8ed dn. 3,000

SR @eN de. 10% TR,

3,3 I Ioets 0t de. 4

maRd, Drne de. 3,000

% puzEd 840 ohedts”
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17. From the following information calculate total passenger's kilometers.

10 Buses of 50 passengers capacity

15 Buses of 40.passengers capacity.

No.of trips of each buses - 10 trips

Distance between two places- 4kms.

“No.of da}-rs in a month - 30days.

Generally 75% of the capacity 1s full.

Meanwhile 5 buses are kept away the roads for repairs.

3R FRBRNS SRbIDOT wid), D l0w0” ddee Det3vfrivr) ombRADD.
10 wmrieb 50 &,0808980 BB FHYD)

15 wried 40 I,03ReI80 PDFEFIYD)

©,3 WIS I - 10 DInied

QO FIriY DFB 8033 - 4 §.e.

WO don¥ uSHod BIN - 30 A |

RIRFN WY I F Be. 75% DoNDHLIB.

oide Bed 5 whrida) 0% 0Fed Jewmeh wIRdeY wPNT.

Section - C
L - 8
III Answer any three of the following questions. (3 x 15 = 45)
Weed JpTY wu3DAD.
18. A Titan watch manufacturing Co. finds that in 2015 it costs Rs.3,69,600 to manufacture
600 watches which were sold at Rs.800 each. Cost was made up of:
Materials Rs. 1,20,000
Direct Wages Rs. 1,80,000

Factory overheads Rs. 36,000

Oftice Overheads Rs. 33,600
For the year 2016 the company estimates to sell 900 watches and

(a) That watch will require the same cost in material & wages.
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(b) That the factory overheads will bear the same relation to wages as in the
previous year. | '

(¢)  Thatthe percentage of office overheads on factory cost will be the same as in
the previous year.

Prepare a statement of cost for the year 2016 & findout the estimated total profit &
per unit,if the selling price is increased by Rs.50 per watch.

Bee® eumpm Boadobad 2015 08 600 Jows ey 30302 Yo,
de. 8004, 20B003 RnTek ARBD. WWE, INOT wid, 323, te. 3,69,600.

3y DT HeNd.

ot Wat-)) gde. 1,20,000
3e0 8RO de. 1,80,000
FDARE D .?.'::’a§d oR. . 36,000
e3ed By, dwe. 33,600

B4 30% 20168¢ mdsd 900 mzsfﬁeéaig* SRDS HY BRODTW I

(@) 308 DR, 8D B, HoDB0S RAHW.

(b)  BoIFR ;52% 3y ded ﬁm@oi) 530080 H0oBT0Z AW TD.

(c) FIATOERN 2ot ﬁz.gdt:i Soeed sejed ﬁzgjc’i 38R HoDToI AHTTD.

2016 5ds8d 5,3 " 13d dr. 50 da’gﬁaﬁgﬁdﬁ wid oy F,3 T o
3ReDT [, AEod S3oDIY 30352020. |

19. A Firm of Builders kept in a contract Iedger a separate account for each contract
following are the details for the year 2016.
MNork certified Rs. 21,45,000
~Cash received from con't;)actee Rs. 19,50,000
_Material sent to site o Rs. 9,67,500.—
_Labour - ' Rs. 822,000~
_Plant Issued to site Rs. 1,69,500
o~ Value of Plant on 31.12.2016 _ Rs. 1,23,000
__Mork un certified Rs. 51,000
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— Establishment Charges Rs. 48,750
. Direct Expenses Rs. 36,.000
_Wages outstanding | Rs. 27,000
Materials in hand 31.12.2016 Rs. 21,000
Materials returned to stores | Rs. 6,000
_-Direct Exp Outstanding | Rs. 3,000
Contract Price Rs. 30,00,000

You are required to prepare a contract account showing profit transferred to P&L A/c

2,080 FIW AT F030HID 1H3AR eIad) IR, VBCY I3 TN
2082000 H3A wedad) 36DWT. 2016 Sob AT HFOrih S FYNAT0SS.

2,39 33000 03 ge. 21,45,000
IR OED0T WoB B ge. 19,50,000
ﬁoﬁdmﬁﬁ; 926 DA, de. 9,67,500
20 ® | an. 8,22,000
I, 3MAATHS 003, T ey de. 1,69,500
31.12.16 dotdh o033 Eﬁ)’a% on. 1,23,000
2, 3» 5FDTBe TS BB de. 51,000
@;’am DL ae. 48,750
$e0 DWened ge. 36,000
31.12.20163, $nBtemnd 300 de. 27,000
31.12.20 168, 2% A, 508, de. 21,000
DR ¥R T T DA, an. 6,000
31.12.2016% 3pBwes S0 S, gR. 3,000
rb3io 35 de. 30,00,000

- Bt HITTBowod degd) 3N a:aéui)r\igl 303002 ), mw—ﬁﬁa 33N aa‘% ¥ 3
IneeAd aowdmnt 30eD3D.
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You are given following data

Year Sales Profit

2015 3,60,000 60,000

2016  4,80,000°0 90,000

Find out

(@ P/VRatio

(b) BEP

(¢) The sales required to earn a profit of Rs.1,50,000.
(d) Profit when sales are Rs.15,00,000.

(¢) Margin of safety at a profit of Rs.2,50,000.
8 Uit B0 InSINIR, SABRNG.

JAE SRTot3 3

2015 3,60,000 60,000

2016 4,80,000 90,000

& 3YNSYHrida) so@ HBoWD.

(@) ooy IN0E3 T,INH

(b) =23 Dowd

(c) S0t Bwe. 1,50,000 enygndmen

(d) 15,00,000 Snoetsmemen ewyd

(e) RoTZze TOLS ewyl Tn. 2,50,000

From the given data,calculate

(1)  Labour cost variance

(2)  Labour rate variance

(3)  Labour efficiency variance

Standard hours for actual output-12000Hrs.
‘Standard rate per hour- Rs.5

Gross Direct Wages- 66,000.

Actual hours worked- 11000 hours.
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3y 391 ﬁ;atici}ai B30&3000E Ford&BOND.
(1) B :Szgd ﬁﬁaaéﬁ

(2) BRY B a%@é:ﬁ’

(3) BRO HDGF asﬁaaﬁﬁ

Blata emaaﬂcia‘iﬁ JANdDIB2E notdnsd - 12,000.
ANDIBAT BT wotd A7 - TA. 5.

whd), ded ded - de. 66,000.

0% INBB AT, IR - 11,000.

The cost details obtained from financial records of a company for production of 500

22,
units are given below.
Particulars Per Unit (Rs.)
Materials 80
Labour 60
Variable overhead 30
Selling & distribution exp (20% fixed) 20
Administrative exp( 40% fixed) 30
Fixed overheads ' 30
You are required to prepare a budget for production of:
(a) 700 units and
(b) 900 units
200D F0TA0D BNTAIT WASNHYoW 500 aedes® sz PIew SBW [$UBE
QIVNY, TN dRBEUINT. ) )
AR e fal Al g,3 obedtst (dw.)
0N, e 80
TR ' 60
VBT BILried 30
SR0vt3 B N30T DwF (20% ?%)d) 20
BBEISZT DWW (40% Egj) 30
A0 d)c%mrd% 30
B 3YNT =, 303D TR SREE Jwonad =3, hc}aﬁﬁ.ﬁf‘).
(a) 700 0e3Frieh Hore
(b) 900 olepb3®rieh
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